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QUESTION 1

An existing non-automatic storage database named MYDB has been successfully converted to an automatic storage
database. What must be done to convert any existing DMS table spaces to automatic storage table spaces? 

A. Execute the statement ALTER DATABASE mydb CONVERT TO AUTOMATIC STORAGE IMMEDIATE. 

B. Execute the statement ALTER DATABASE mydb CONVERT TABLESPACES TO AUTOMATIC STORAGE. 

C. Execute the ALTER TABLESPACE statement with the MANAGED BY STOGROUP clause specified for each DMS
table space that is to beconverted. 

D. Execute the ALTER TABLESPACE statement with the MANAGED BY AUTOMATIC STORAGE clause specified for
each DMS table space that isto be converted. 

Correct Answer: D 

 

QUESTION 2

Which of the following table types is NOT supported by the load utility? 

A. A Temporal table 

B. A Range Partitioned table 

C. A Global Temporary table 

D. A Multidimensional Clustering table 

Correct Answer: C 

 

QUESTION 3

Which statement is NOT true about a database restore operation? 

A. A table space restore operation must be done offline. 

B. A table space is not usable until the restore operation completes successfully. 

C. A user can restore a database from a backup image on a 32-bit level into a 64-bit level, but not vice versa. 

D. A database restore operation requires an exclusive connection. No applications can run against the database while
the operation is inprogress. 

Correct Answer: A 

 

QUESTION 4

Which statement is true regarding the workload management dispatcher? 
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A. The workload management dispatcher monitors work performed by entities executing in the DB2 system service
class. 

B. The workload management dispatcher monitors the allocation of CPU resources between service classes on a
system. 

C. The workload management dispatcher monitors non-DB2 work performed in fenced mode processes such as fenced
stored procedures. 

D. The workload management dispatcher monitors work performed by applications or middleware products that perform
a portion of their workoutside of the DB2 database manager. 

Correct Answer: B 

 

QUESTION 5

Given the following statement: 

How many constraints are present in the DEPARTMENT table? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: D 
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